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                    བ    
                    བ    

         བ               ༢༠༡4  
                              པ                       བ      བ     (DZO༣༠༢) 

    བ      ༡༠༠                 ད  ༣  
 

   བ   བ  ད                   བ    པ                    ༡༠           བ            བད    

ད      བ  ད           ཀ  ད   ཁ་       ད             ཀ     ད       བ   ད        ཁ      བ བ   པ  

ད  བ ད པ    བ             ད  པ         དཔ       བ  བ  ད              བད    ད  པ       

 
        (   4༠) 

(བ  ད            བ       བ          ) 
  བ ད  པ   ད                ད                 བད         བ ད པ  བ    [༡0] 
  བ     པ             ད                 བ པ        ད པ                         [༡0] 
  བ     པ      བ                  བ       བ དཔ          བད ད   པ   བ           [༡0] 
  བ བ  པ                           ད  བ       བ དཔ       བད ད   པ               [10] 

  བ   པ  ད      ད    བ          ད                 བ    ད           བ             བ      བད     
   ད པ            ད        བ ད   པ               བ ད པ  བ     [༡0] 

  བ    པ                                བ    པ                        ད   པ   
ད   ད              [༡0] 
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        (   ༦༠) 
(བ  ད      བ  བ  ད             བད བ  ད ད   དཔ     ད            བད            ) 

 

  བ བ   པ        པ       བ        བ    ད  པ ད       པ    བ        ད       བ                  
          བ           ད   ད    བད བ           བ  ད               ད     [༨x2=16] 
 
                         
 
 
 
 
 
 
 
  བ བ ད པ              ད པ                    བ                    ད   

                 བ         [8x2=༡6] 
   
 
 
 
 

  བ              
             ད        
                བད    
   ད                     
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  བ ད  པ              ད    ད             བད            ད   བ  བ                 ད པ     
     ད    བ             བད         བ ད   པ       ད  བད         བ          
                            [༡8] 

 
             
             
             
             
             
             
             
 
  བ བ  པ          ད པ         ད                ད       བ      [.༥x1༨=10] 
                           ཕ     ཝ                        

    ད         ད           ད      པ   བ                  ད          ད   ཝ          
          པ བ      བ  ད པ     བ    པ              བ            བ པ        ད  ད  བ 
  པ  བད          
ད        པ     པ  བ           བ    བ       ད       ད  ད              པ          བ  བད 
ད  བ             ད   ད     ད                བ     བ                       པ   བ   
བ             བ   པ          བད ད   ད      


